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if CBN==1 && CBN==TBN ) /*
{
else { /** else2 **/
if )
{

elsef{

if (CBN==TBN &&
{

}

elsef
}
} I** else2 **/
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0 7 0
+0 ver +0 ver
+1 +1
+2 +2
+3 +3
seq
+4 +4
+5 +5
seq
+6 +6
+7 upno +7
+8 +8
upno
+9 +9
+10 +10
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+0
+1
+2
+3
+4
+5
+6
+7
+8
+9
+10

AP
AP
7
ver
seq
upno




E.3

E.3.1
128.0
128.0.0.1
1
2
"node2"
600
10
E.3.2
=128.0.255.255
=600
ADP

h_type = "NUXM"
ml =128

sa = 0x00010002
da = 0x00010001
v_seq=0

seq=1

m_ctl = 0x80000000 #
ing_id=0

tcd = 60003

ver =0

gtid=0

mode =0

pver =1

pri=1

cbn=1
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tbn =1
bsize = ml (128)

ful=0

al_nd_name = "node2"
al_os_name = "HI_PC_win" # (Windows )
al tm out=10*4
al_msgserno =0

al_ mode =1

al_protocol = 4

al chg time=0 #
al_ipaddr[0] = LAN IP
al_ipaddr[1] =0

al_ ver=1

al ful=0

al fu2=0

reserved =0

while {

sendto socketno, sockaddr

10 delay

shutdown

al_mode = 2 # shutdown

sendto socketno, sockaddr
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E.4

ADP
63 AP
(AP)
Mod#
Mod#2 [ ™ Mod#4 ™
™™ Mod#1 ; 4
Mod#3 é
3
> Mod#5 4
5
Error#
L P e
100D
TCD 2438

N

AP

3(Mod#)

AP

1002(Error#

63
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F.1

UNIX
AP
Windows
DDE AP
UNIX Windows

ADS Datafield information

df= 1 type=CD105 node= 2
system type=separation
node node=test (GO, A, --,--)

LANL addr =160.170.0. 4
LAN2 addr = '

> Node status <
node nane stat us LANL osnane

1 nodel alive alive S10

2 node2 alive alive hi-ux

3 node3 shutdown dead Wndows3.1

4 noded4 alive alive Wndows3.1 \

\
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F.2

AP

AP
AP
/ Mod#2 [P Mod#4 1™
—’ MOd#l ™ ‘-““\\‘l“\‘lllﬂl"
Mod#3 P> Mod# Error#
3 1002
—» Mod#5 ‘ f

Mod#3 3(Mod#) |

BOX 1002(Error#) D000 4AFE
/ D004 0001
D008  29C6
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F.3

al_err_list

" " al_os_name

al_err_list

al_err_name

No:

Msg: 1024
Cause: 1024

Action: 1024

ASCII

"No:"

10 0x

"Msg:"
"Cause:"
"Action:"
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G.1

(WS)

PC

Flexible System Architecture

Small Start System Architecture

High-reliable System Architecture

Open System Architecture

(WS,PC )

A

(Ethernet)

NN N AR

UNIX

W= |
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H.1

TCD
AP |TCD#n| a b c d |
AP1 AP2
1O
68
)
)
) AP1,3 AP3
AP2  AP3
AP3 "a”, “b”, “c”, “d"

) TCD

TCD
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H.2

Rev.2
0
ADP
+64
MSTC
Contents
69 Rev.2
MSTC
0
ADP 7
MSTC 7
S~ ~_ - p ’
AN
/ -~
7
s Contents
7
7
7/
7
70
MSTC
AP
DF TCD TCD TCD
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